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GROUP-A
All Questions Carrying 1 mark (gest & 3 2))
Q. | 1. | The arithmetic mean between 4 and 10 is
4 3T 10 & NT TP AATAZ AT B
(i) 40 (i) 7 (iii) 14 (iv) 4
Q. | 2. | The fifth tirm of the sequence 4, 12,36 ........... is
L A L S e RO w1 gigar 9§ & |
Q) 332 (i) 338 (iii) 324 (iv) 36
Q. | 3. | The value of nP,+nC, is
nP. +nC, @1 #ATSA &
(i) 4nm (i) Ln-r (i) ZLr iv) nP,

Q. | 4. | Find the Value of 10,

10, @1 AT ST B

Q. | 5. | Null Setisa e of all sets .
ﬂ?ﬁ AT A AHT BT e

S & |
Q) A ={2,4,6} (i) A ={24,68}
(iii) 4eA (iv) 10 € A

Q. | 6. |If A= {x/x,iseven number less than 10 } Then which one of the following is false

af A= {x/x, 10 ¥ O W T ¥ ) A PreeieEa f & B

Q. | 7. | Median is

a) Most frequent value
¢) Centre of gravity
AfezresT 3

(@) JaR 3 IR 3T arer Al
@) JEA BHA TR TS AT AT
(@1) IYBea Bew

(@) = @1 ATl

§

/

b) Least frequent value
d) Middle must value
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Which of the following relationship is correct

(a) AM = /GM x HM (b) HM = VAM xGM

(C) GM = VAM x HM (D) GM = iAi[’;—H%

feraeifaRaa wowee &F ¥ e & B
(a) AM = JGM x HM (b) HM = VAM xGM

(C) GM = AM < HM (D) GM = iﬂi);ﬂ{ |

Median is a value having maximum frequency (True/False)

HAftTHdT g8 oo B oraad smafar siftrpas 2 1 @@ AreE)

10.

Which of the following is not a mathematical average ?
a) Geometric mean b) Harmonic Mean

¢) Moving average d) Qudratic Mean
Rreatifsa & e a1 aifdrdfer 3ira =18t @
®) YONART HATET  BT) BIACHD HIET

37) TET HTET o) TEardr e

11.

Harmonic mean is the reciprocal of arithmetic mean  (True/Fals

EICHD HIET AHIAR HIET BT GshdA & | &AL

12.

The seasonal fluctuations are
(i) Periodic and irregular (ii) Periodic and regular
(iii) Not periodic (iv) Cyclical
AT I=mrame BT E

(@) =mafees va siferafaa (&) smafées vad ferafdal

@1) smafies @ dt 4 @) =

13.

A time series is affected by economic factors (True/Fa

Tk wia Aoft 3nfefes gemt A warfaa ardft 2 @@

S€)

ST )

14.

Probability lies between o to 1 (True/Fal

€)

UIIhbdr @T ATel 0 A 1 &b &g ardar & & oTea)

15.

Value obtained by interpolation

a) Iseqval to actual value b) Is less than actnal value

¢) Is more than actual value d) Is the maximum possible elemate of actual

value .
3TeAOTOTS EIRT UTd e
(@) aafas Jo P aIER Brar @
&) arafas eI JF HH Brar T
(@r) arafaes Hea A 3ifees Bar B
@) aafas Fqea &1 3ifermpan Feenfaa argaer &ar &
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GROUP -B
All Question Carrying 3 marks (Fsft uesit & #Er 3 & )

The average marks secured by 50 students was 44. Later on, it was found that a
score of 36 was misread as 56. Find the correct average marks gbtained by the
students. (3]
50 frenf=t gRr ura e 3ics 44 o | @e F uar|@em B 36
U is @B 56 Ug frem orar em | frenffet gt ura ofw wmewm s
ST BHISE |

Calculate the geometric mean of 20, 40 and 80 (3]
20, 40 TAT 80 BT JPUNAT HATET oA B3 |

What is the chance that a non-leap year should have 53 Tuesday ? (3]
THB T FeATaem & 5 s IR iy adf F 53 FHorear @ aifge 2

If 4 coins are tossed, find the chance that there should be two tails (3]
afe 4 Rras 3w o & a1 Uz 9 &t JFTaeT S PP |

From a pack of 52 cards one card is drawn at random. What is the pfobability that it
will be Queen of clubs or king of diamond ? (3]
52 RN @ UTx oTf H A Uxh uar IJehss a0 A Rreplar omar &
A TG B T uiiesar @ 5 g Rt @1 Yotd 3rerar Fe w1 areens
grom ?

GROUP -C
All Question Carrying 5 marks (F3ff west & #1et § € 1)
Solve the following equations by cramer’s Rule
B foraada A froeifea wellepzoil @1 81 B3 | [5]
2x-Y +3Z =9
Xx+Y + Z =6
x-Y + Z =2
[5]
IfA= |2 31
3 4 Find A
e
gfe A =2 3 1 :
3 41 ar AT §ma &2 | / 3
b Rf@)




23,

If Y= (x*+5x+1)° then find %

afe Y= (x*+5x+1)° then find Zx—y

24.

Find (#Ter feremret)

(x=3)°
J.x\/; dx

23;

Find weighted harmonic mean

(Ra &RTeHS HIET BTa BI)

Size (3mMeRR) 40 50 120 150 110
Weight (a112) 10 6 4 2 3

[5]

26.

Find the trend value by least square method from the following tim
[Croer wrersoft A =pprae aof Ry ¥ suafy s Rree)
Year (@) 2004 2005 2006 2007 2

Produuction (Lakh ton) 5 7 g 10
3dres (GTRT ee)

12

e series data

D08 2009

[5]
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GROUP -D L;
g )

All Question Carrying 8 marks (Ieft weslt & #er

27,

Three numbers, whose sum is 15, are in AP If 1, 4 & 19 be added to them

respectively, they are in G.P. Find the numbers

et BT et JoThe 15 B, FWHEEER Soft F R | 9 seet

1, 4 @7 19 SIST ST & ¥ goner Soft & 8 & ar &
BT |

=TT &7

(8]
ShHRT:
T

28.

Find the number of words formed by the letters of the word ‘DELHI
(i) Which begin with ‘D’
(ii) End with ‘T’
(iii)The letter ‘L’ being always in the middle
(iv)Begin with ‘D’ and with ‘I’
‘DELHI’ ersg & 378R F @ofel @l I ot oY J==m sia
(i) st DA g> dar & |
(i)sr ‘T ¥ 3rea Brar & |
(iil) s Fex & &RFem ‘L'wgar & |
(iv)st ‘D’H g5 3= ‘I’ A ared grar & |

29,

IfA={,2,34,567and B= {3,4,5,6,7,8,9}  find
@) A-B (i) AaB (i) A ~ B

afe A={1,2,3,4,5,6,7}@enB= {3,4,5,6,7,8,9} ar @rer feremrey -

() A-B (i) AsB (ii)A N B

30.

Calculate ‘Mean’ and ‘Median’ of the following series
Size 10-20 20-30 30-40 40-50  50-60
Frequency 6 20 - 26 3
oreer oft @1 ‘ATew’ wd wfemesr fereter

TR 10-20 20-30 30-40 40-50  50-60
smafer 6 20 44 26 3

31.

By Binomial expansion method. Interpolate the missing figure.
(feue frar fafr ¥ 3rema 36 sa w3 )

Year (@) 2004 2005 2006 2007 2
Pofit (Lakh ) 50 45 ? 38

TH (AT S0)




